Activity 5.2 - Answer Key

Problem 1

Fill in the blank: cos(A) cos(B) — sin(A)sin(B) =

cos(A + B)

Problem 2
Fill in the blank: tan(A + B) =

tan(A) + tan(B)
1 — tan(A) tan(B)

Problem 3

Find the exact value of sin(60° + 45°)

sin(60° + 45°) = sin(60°) cos(45°) + cos(60°) sin(45°)
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Problem 4

Find the exact value: cos(57°) cos(33°) — sin(57°) sin(33°)

cos(H7°) cos(33°) — sin(5H7°) sin(33°)
= cos(b7° + 33°)
= c0s(90°)
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Problem 5
Find tan(75°)

tan(75°) = tan(45° + 30°)
_ tan(45°) + tan(30°)
1 — tan(45°) tan(30°)
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Problem 6
Given tan(u) = 2 in Q3 and sin(v) = & in Q2. Find cos(u — v)

Graph of u:
Yy
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Graph of v:
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2% 4 (5)% = (13)?

22 4+ 25 = 169
r? = 144
r=—12

Combining the information:

cos(u — v) = cos(u) cos(v) + sin(u) sin(v)
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Secret Phrase

What was the secret phrase you found?

GO TECH



